
Table 0.1: Simulations results, 10,000 iterations, λZ = 1. 10 December 2020.

n=100 n=500 n=1000 n=2000
model bias MAE RMSE Cov. rate Quantile .95 bias MAE RMSE Cov. rate Quantile .95 bias MAE RMSE Cov. rate Quantile .95 bias MAE RMSE Cov. rate Quantile .95

λX=0.2, αY =6 – b2 + d2=0.97
standard -4.2 4.2 0.258 0.0 -37.083 -3.985 3.985 0.236 0.0 -79.334 -3.888 3.888 0.231 0.0 -109.227 -3.812 3.812 0.207 0.0 -152.782
smoothed -4.224 4.224 0.246 0.094 -37.607 -4.008 4.008 0.224 0.31 -80.355 -3.911 3.911 0.221 0.444 -110.655 -3.833 3.833 0.199 0.554 -154.56

λX=0.2, αY =7 – b2 + d2=0.94
standard -1.852 1.853 0.207 0.001 -14.835 -1.693 1.693 0.18 0.001 -30.582 -1.63 1.63 0.166 0.0 -41.88 -1.57 1.57 0.148 0.0 -57.454
smoothed -1.87 1.871 0.198 0.1 -15.201 -1.71 1.71 0.171 0.294 -31.345 -1.646 1.646 0.159 0.402 -42.851 -1.585 1.585 0.142 0.531 -58.711

λX=0.2, αY =10 – b2 + d2=0.9
standard -0.596 0.597 0.107 0.005 -4.002 -0.508 0.508 0.09 0.002 -7.606 -0.473 0.474 0.086 0.002 -9.939 -0.444 0.444 0.076 0.002 -13.472
smoothed -0.607 0.607 0.103 0.09 -4.209 -0.518 0.518 0.086 0.26 -7.976 -0.482 0.482 0.083 0.347 -10.452 -0.452 0.452 0.073 0.449 -14.173

λX=0.3, αY =4 – b2 + d2=0.95
standard -3.827 3.828 0.446 0.002 -30.258 -3.537 3.538 0.399 0.001 -62.94 -3.439 3.439 0.344 0.0 -88.372 -3.347 3.347 0.283 0.0 -125.987
smoothed -3.875 3.876 0.416 0.158 -31.218 -3.582 3.583 0.376 0.448 -65.176 -3.48 3.48 0.325 0.592 -91.142 -3.385 3.385 0.269 0.724 -128.938

λX=0.3, αY =6 – b2 + d2=0.87
standard -0.619 0.625 0.189 0.036 -2.794 -0.506 0.51 0.147 0.022 -5.403 -0.462 0.464 0.131 0.019 -6.908 -0.425 0.426 0.112 0.011 -9.783
smoothed -0.641 0.645 0.18 0.17 -3.189 -0.524 0.527 0.14 0.382 -6.217 -0.479 0.481 0.124 0.498 -7.867 -0.439 0.44 0.107 0.626 -10.899

λX=0.3, αY =7 – b2 + d2=0.84
standard -0.401 0.406 0.141 0.055 -1.457 -0.313 0.316 0.103 0.036 -2.818 -0.28 0.283 0.096 0.034 -3.329 -0.255 0.257 0.08 0.025 -4.674
smoothed -0.417 0.422 0.133 0.172 -1.769 -0.327 0.329 0.098 0.371 -3.326 -0.293 0.295 0.091 0.486 -4.018 -0.266 0.267 0.077 0.584 -5.449

λX=0.3, αY =10 – b2 + d2=0.8
standard -0.178 0.182 0.078 0.114 -0.334 -0.131 0.134 0.056 0.083 -0.683 -0.113 0.116 0.05 0.079 -0.739 -0.099 0.101 0.041 0.068 -1.092
smoothed -0.187 0.191 0.074 0.211 -0.5 -0.139 0.141 0.053 0.349 -0.942 -0.12 0.122 0.047 0.429 -1.073 -0.105 0.106 0.039 0.522 -1.516

λX=0.5, αY =3 – b2 + d2=0.83
standard -0.788 0.875 0.566 0.169 0.764 -0.62 0.665 0.354 0.132 -0.276 -0.569 0.597 0.3 0.112 -1.823 -0.529 0.542 0.226 0.079 -5.747
smoothed -0.851 0.916 0.523 0.326 -0.67 -0.669 0.702 0.328 0.609 -2.726 -0.61 0.631 0.283 0.738 -4.171 -0.562 0.572 0.214 0.844 -8.298

λX=0.5, αY =4 – b2 + d2=0.75
standard -0.259 0.311 0.239 0.335 1.65 -0.173 0.207 0.157 0.334 2.52 -0.149 0.174 0.129 0.323 2.701 -0.132 0.148 0.1 0.285 2.318
smoothed -0.291 0.329 0.221 0.436 1.002 -0.196 0.22 0.146 0.632 1.468 -0.168 0.186 0.121 0.723 1.55 -0.148 0.159 0.094 0.806 1.005

λX=0.5, αY =6 – b2 + d2=0.67
standard -0.085 0.115 0.106 0.524 1.05 -0.051 0.07 0.064 0.535 1.421 -0.041 0.055 0.05 0.541 1.544 -0.034 0.045 0.04 0.526 1.684
smoothed -0.099 0.122 0.1 0.576 0.773 -0.061 0.074 0.06 0.68 1.018 -0.049 0.059 0.048 0.744 1.083 -0.04 0.048 0.038 0.795 1.239

λX=0.5, αY =7 – b2 + d2=0.64
standard -0.062 0.087 0.082 0.549 0.834 -0.035 0.05 0.049 0.583 1.142 -0.028 0.04 0.038 0.585 1.223 -0.022 0.031 0.029 0.595 1.277
smoothed -0.073 0.092 0.077 0.594 0.63 -0.042 0.054 0.046 0.704 0.881 -0.034 0.042 0.036 0.754 0.926 -0.027 0.033 0.027 0.807 0.964

λX=0.5, αY =10 – b2 + d2=0.6
standard -0.033 0.048 0.047 0.614 0.489 -0.017 0.027 0.027 0.663 0.692 -0.013 0.02 0.021 0.688 0.764 -0.01 0.015 0.016 0.691 0.828
smoothed -0.04 0.051 0.044 0.642 0.372 -0.021 0.028 0.026 0.747 0.555 -0.016 0.021 0.02 0.792 0.617 -0.012 0.016 0.015 0.831 0.668

λX=0.8, αY =1.5 – b2 + d2=0.87
standard -1.897 2.819 3.709 0.257 18.489 -1.52 2.337 4.606 0.219 29.496 -1.6 2.018 2.198 0.187 18.636 -1.577 1.845 1.655 0.153 1.398
smoothed -2.17 2.878 3.319 0.373 9.591 -1.741 2.399 4.171 0.628 14.718 -1.773 2.092 1.882 0.747 5.547 -1.702 1.928 1.554 0.858 -11.616

λX=0.8, αY =2 – b2 + d2=0.7
standard -0.206 0.584 1.097 0.585 9.838 -0.138 0.365 0.55 0.595 14.384 -0.137 0.281 0.352 0.594 13.866 -0.127 0.229 0.299 0.577 13.412
smoothed -0.296 0.587 1.024 0.621 7.361 -0.197 0.368 0.503 0.757 10.802 -0.181 0.29 0.325 0.829 10.721 -0.159 0.238 0.285 0.887 10.351

λX=0.8, αY =3 – b2 + d2=0.53



standard -0.04 0.164 0.238 0.77 3.221 -0.019 0.088 0.118 0.811 3.962 -0.015 0.065 0.083 0.821 4.131 -0.014 0.048 0.059 0.831 4.054
smoothed -0.069 0.163 0.216 0.778 2.595 -0.034 0.087 0.11 0.868 3.316 -0.026 0.065 0.078 0.901 3.442 -0.021 0.048 0.056 0.931 3.412

λX=0.8, αY =4 – b2 + d2=0.45
standard -0.017 0.089 0.117 0.823 1.86 -0.008 0.044 0.056 0.859 1.958 -0.006 0.033 0.041 0.869 2.074 -0.004 0.024 0.03 0.878 2.144
smoothed -0.032 0.088 0.109 0.833 1.555 -0.016 0.044 0.053 0.894 1.692 -0.011 0.032 0.039 0.919 1.79 -0.008 0.024 0.029 0.941 1.888

λX=0.8, αY =6 – b2 + d2=0.37
standard -0.007 0.045 0.058 0.856 0.96 -0.003 0.022 0.027 0.895 1.015 -0.002 0.016 0.02 0.904 1.054 -0.001 0.011 0.014 0.912 1.023
smoothed -0.014 0.045 0.054 0.864 0.834 -0.006 0.021 0.026 0.92 0.904 -0.004 0.016 0.019 0.934 0.932 -0.003 0.011 0.014 0.95 0.922

λX=0.8, αY =7 – b2 + d2=0.34
standard -0.006 0.035 0.045 0.869 0.75 -0.003 0.017 0.021 0.9 0.768 -0.002 0.012 0.015 0.909 0.792 -0.001 0.009 0.011 0.917 0.804
smoothed -0.011 0.035 0.042 0.875 0.65 -0.005 0.017 0.02 0.917 0.674 -0.003 0.012 0.015 0.933 0.709 -0.002 0.009 0.011 0.949 0.738

λX=0.8, αY =10 – b2 + d2=0.3
standard -0.003 0.022 0.027 0.885 0.468 -0.001 0.01 0.013 0.917 0.476 -0.001 0.007 0.009 0.924 0.481 -0.0 0.005 0.007 0.926 0.488
smoothed -0.006 0.021 0.026 0.89 0.408 -0.002 0.01 0.013 0.93 0.432 -0.001 0.007 0.009 0.942 0.442 -0.001 0.005 0.007 0.95 0.45

λX=0.9, αY =1.5 – b2 + d2=0.77
standard -0.347 1.427 4.4 0.511 22.97 -0.312 0.916 1.903 0.518 32.865 -0.341 0.74 1.393 0.502 30.498 -0.243 0.715 7.818 0.474 33.997
smoothed -0.556 1.401 3.903 0.551 16.864 -0.458 0.908 1.606 0.69 23.666 -0.444 0.756 1.315 0.773 22.425 -0.318 0.735 7.81 0.842 25.293

λX=0.9, αY =2 – b2 + d2=0.6
standard -0.06 0.386 0.878 0.732 7.773 -0.04 0.219 0.356 0.755 10.412 -0.037 0.166 0.347 0.765 10.305 -0.036 0.126 0.229 0.766 10.113
smoothed -0.132 0.373 0.742 0.738 6.064 -0.078 0.214 0.309 0.822 8.219 -0.065 0.165 0.315 0.869 8.577 -0.055 0.127 0.222 0.899 8.387

λX=0.9, αY =3 – b2 + d2=0.43
standard -0.012 0.127 0.176 0.841 2.882 -0.006 0.064 0.087 0.87 3.214 -0.004 0.045 0.059 0.893 3.107 -0.003 0.033 0.043 0.892 3.179
smoothed -0.034 0.123 0.16 0.842 2.416 -0.016 0.062 0.08 0.9 2.721 -0.011 0.045 0.056 0.926 2.711 -0.008 0.033 0.041 0.947 2.822

λX=0.9, αY =4 – b2 + d2=0.35
standard -0.006 0.071 0.093 0.873 1.612 -0.002 0.035 0.045 0.896 1.69 -0.002 0.025 0.031 0.911 1.664 -0.001 0.018 0.023 0.913 1.711
smoothed -0.017 0.069 0.087 0.879 1.389 -0.007 0.034 0.042 0.918 1.49 -0.005 0.024 0.03 0.94 1.49 -0.003 0.018 0.022 0.948 1.559

λX=0.9, αY =6 – b2 + d2=0.27
standard -0.002 0.037 0.048 0.897 0.845 -0.001 0.018 0.022 0.918 0.849 -0.001 0.013 0.016 0.924 0.843 -0.0 0.009 0.011 0.93 0.821
smoothed -0.008 0.036 0.045 0.901 0.735 -0.003 0.017 0.022 0.934 0.766 -0.002 0.012 0.015 0.944 0.785 -0.001 0.009 0.011 0.954 0.767

λX=0.9, αY =7 – b2 + d2=0.24
standard -0.003 0.03 0.038 0.901 0.661 -0.001 0.014 0.018 0.922 0.685 -0.0 0.01 0.013 0.929 0.675 -0.0 0.007 0.009 0.931 0.682
smoothed -0.007 0.03 0.037 0.903 0.587 -0.002 0.014 0.017 0.934 0.625 -0.001 0.01 0.012 0.945 0.626 -0.001 0.007 0.009 0.951 0.639

λX=0.9, αY =10 – b2 + d2=0.2
standard -0.001 0.019 0.024 0.909 0.413 -0.0 0.009 0.011 0.927 0.419 -0.0 0.006 0.008 0.933 0.409 -0.0 0.004 0.006 0.937 0.418
smoothed -0.004 0.018 0.023 0.913 0.367 -0.001 0.009 0.011 0.936 0.388 -0.001 0.006 0.008 0.943 0.383 -0.0 0.004 0.006 0.954 0.396


